

Kansas Corporation Commission Oil & Gas Conservation Division

1152988

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from North / South Line of Section
City:	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Conv. to GSW	Chloride content: ppm Fluid volume: bbls Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
□ Commingled Permit #:	Operator Name:
GSW Permit #:	County: Permit #:
Spud Date or Date Reached TD Completion Date or Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY					
Letter of Confidentiality Received					
Date:					
Confidential Release Date:					
Wireline Log Received					
Geologist Report Received					
UIC Distribution					
ALT I II Approved by: Date:					

Side Two



Operator Name:			Lease Name: _			Well #:	
Sec Twp	S. R	East West	County:				
time tool open and clo	osed, flowing and shu es if gas to surface te	d base of formations per t-in pressures, whether s st, along with final chart(well site report.	shut-in pressure rea	ched static level,	hydrostatic press	sures, bottom h	ole temperature, fluid
Drill Stem Tests Taker (Attach Additional		Yes No		og Formatio	n (Top), Depth an	d Datum	Sample
Samples Sent to Geo	logical Survey	Yes No	Nam	ie		Тор	Datum
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Copy	d Electronically	Yes No Yes No Yes No					
List All E. Logs Run:							
			_	ew Used			
Durnous of String	Size Hole	Report all strings set-	conductor, surface, int	ermediate, producti Setting	on, etc. Type of	# Sacks	Type and Percent
Purpose of String	Drilled	Set (In O.D.)	Lbs. / Ft.	Depth	Cement	Used	Additives
		ADDITIONAL	CEMENTING / SQI	IEEZE DECODO			
Purpose:	Depth			JEEZE RECORD	Time and F	Doroont Additivoo	
Perforate	Top Bottom	Type of Cement	# Sacks Used		Type and F	Percent Additives	
Protect Casing Plug Back TD							
Plug Off Zone							
Shots Per Foot	PERFORATION Specify I	ON RECORD - Bridge Plug Footage of Each Interval Per	gs Set/Type		cture, Shot, Cement		l Depth
	Зреспу і	Octage of Lacri Interval Fer	lorateu	(Al	TIOUTIL ATTU KITIU OF WIE	iteriai Oseu)	Бериі
TUDING DECORD.	Si=a.	Cot Atı	Packer At:	Liner Dun			
TUBING RECORD:	Size:	Set At:	Packer At.	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or EN	HR. Producing Met		Gas Lift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf War	er Bl	bls. (Gas-Oil Ratio	Gravity
	ON OF GAS:		METHOD OF COMPL		amin ala -l	PRODUCTIO	N INTERVAL:
Vented Solo		Open Hole	Perf. Dually (Submit		nmingled mit ACO-4)		
(ii ventea, Sui	bmit ACO-18.)	Other (Specify)			l —		

Form	ACO1 - Well Completion
Operator	Valhalla Exploration LLC
Well Name	Hoelscher 1-27
Doc ID	1152988

All Electric Logs Run

DIL	
DUCP	
MICRO	
SONIC	



QUALITY OILWELL CEMENTING, INC.

PO Box 32 - 740 West Wichita Ave, Russell KS 67665 Phone:785-324-1041 fax:785-483-1087 Email: cementing@ruraltel.net Date: 5/22/2013 Invoice # 6814

P.O.#:

Due Date: 6/21/2013
Division: Russell

Invoice

Contact:

VALHALLA EXPLORATION Address/Job Location: VALHALLA EXPLORATION 133 N GLENDALE STREET WICHITA, KS 67208

Reference:

HOELSCHER 1-27

Description of Work:

SURFACE JOB

Services / Items Included:	Quantity	Price	Taxable	ltem .	Quantity	Price	Taxable
Labor	(S1100000000000000000000000000000000000	\$ 991.39	No				
Common-Class A	225	\$ 3,063.34	Yes				1
Bulk Truck Matl-Material Service Charge	238	\$ 516.80	No				- 1
Calcium Chloride	8	\$ 413.96	Yes				- 1
Pump Truck Mileage-Job to Nearest Camp	32	\$ 346.73	No				1
Bulk Truck Mileage-Job to Nearest Bulk Plant	32	\$ 202.90	No				
Flo Seal	56	\$ 121.60	Yes				
Premium Gel (Bentonite)	5	\$ 88.38	Yes				

Invoice Terms:		SubTotal:	\$ 5,745.10
Net 30	Discount Available ONLY if Invoice within lists	is Paid & Received ed terms of invoice:	\$ (861.77)
	SubT	otal for Taxable Items:	\$ 3,134.19
	SubTotal	for Non-Taxable Items:	\$ 1,749.15
	·	Total:	\$ 4,883.33
	7.30% Rice County Sales Tax	Tax:	\$ 228.80
Thank You For Your Business!		Amount Due:	\$ 5,112.13
	A	Applied Payments:	
		Balance Due:	\$ 5,112.13

Past Due Invoices are subject to a service charge (annual rate of 24%) This does not include any applicable taxes unless it is listed. ©2008-2013 Straker Investments, LLC. All rights reserved.

QUALITY OILWELL CEMENTING, INC. Federal Tax I.D.# 20-2886107

Phone 785-483-2025 Cell 785-324-1041

Home Office P.O. Box 32 Russell, KS 67665

No. 6814

Date 5-17-13 2	c. Twp. Range	12	County	KState	On Location	1 ,00 PM
11))		Location	on Claffi	0 Ks - E	to 4th Rd	, 43/45
Lease Hoelscher	Well No.	27	Owner E	tinto		
contractor Southwind	#4		To Quality Oil You are hereb	lwell Cementing, In	nt cementing equipment	t and furnish
Type Job Surface	22-1			d helper to assist o	wner or contractor to de	work as listed.
Hole Size 172"	T.D. 335'		Charge O	ahalla	Explora	tion
Csg. 13318"	Depth 335'		Street			
Tbg. Size	Depth		City		State	
Tool	Depth				and supervision of owner	agent or contractor.
Cement Left in Csg.	Shoe Joint 15'		Cement Amo	ount Ordered 225	5x Common	3%CL 2% 60
Meas Line	Displace 49	BUS	Vy# Flo.	Ser		
EQU	IIPMENT		Common 2	25		
Pumptrk / 5 No. Cementer Helper	Nick		Poz. Mix			
No Driver	yton		Gel. 5			-
Bulktrk O. U. No. Driver R	*ck		Calcium 8	,		
	ES & REMARKS		Hulls		·/	y 7 = 1
Remarks Coment did	Ciscu	late.	Salt		.*	
Rat Hole	- On the		Flowseal 4	64		
Mouse Hole			Kol-Seal			T
Centralizers			Mud CLR 48			
Baskets			CFL-117 or C	CD110 CAF 38		
D/V or Port Collar	11		Sand			
	11.11.200		Handling 2	78		
			Mileage			
				FLOAT EQUIP	MENT	
			Guide Shoe			
		7	Centralizer			
	- 14		Baskets			
		W	AFU Inserts			
0.5			Float Shoe			
		1.4	Latch Down			
			Pumptrk Cha		vetor Surfac	2
			Mileage 3	2		
					. Tax	
//_	11 1	ACCOUNT OF THE PARTY OF			Discount	
X Signature	wy				Total Charge	ê e e e e e e e e e e e e e e e e e e e



PAGE	CUST NO	INVOICE DATE
1 of 1	1007761	05/27/2013

INVOICE NUMBER

1718 - 91198022

Pratt

(620) 672-1201

B VALHALLA EXPLORATION LLC

1 133 NORTH GLENDALE

L WICHITA

KS US

67208

o ATTN:

KENNEDY

LEASE NAME

Hoelscher

1-27

0 LOCATION

В COUNTY

S

Rice

STATE

KS

T

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

40599784	20920				Section of the sectio
	Miles and the second se			Net 30 days	06/26/2013
		QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service Dates:	05/22/2013 to 05/22	2/2013			
040599784					
					1 1 24 - 1
171808581A Cemer	nt-New Well Casing/Pi 05/2	2/2013		31.7	LACT FR.
Cement 5 1/2" Longs	The state of the s	E		MAD BOUT	
Siveral avers.		CLINER .N. HENGE	2.115		
50/50 POZ		125.0	O EA	8.25	1,031.18
60/40 POZ		80.0	O EA	9.00	719.95
Celloflake		32.0	O EA	2.77	88.79
C-41P		27.0	O EA	3.00	80.99
Calcium Chloride		210.0	O EA	0.79	165.36
Cement Friction Redu	icer	32.0		4.50	143.99
Gypsum		625.0	O EA	0.56	351.54
FLA-322		84.0	O EA	5.62	472.47
Cement Gel		210.0	O EA	0.19	39.37
Gilsonite		625.0	O EA	0.50	314.04
Mud Flush		500.0	O EA	0.64	322.48
Claymax KCL Substit	ute	4.0	O EA	26.25	104.99
"Latch Down Plug &	Baffle, 5 1/2"" (Blu	1.0	O EA	299.98	299.9
"Auto Fill Float Shoe	5 1/2"" (Blue)"	1.0	O EA	269.98	269.9
"Turbolizer, 5 1/2"" ((Blue)"	8.0	O EA	82.50	659.9
"5 1/2"" Basket (Blue	e)"	1.0	O EA	217.49	217.4
"Unit Mileage Chg (Pi	U, cars one way)"	75.0	о мі	3.19	239.0
Heavy Equipment Mil	eage	150.0	о мі	5.25	787.4
"Proppant & Bulk Del	. Chgs., per ton mil	653.0	O EA	1.20	783.5
Depth Charge; 3001-	4000'	1.0	O EA	1,619.91	1,619.9
Blending & Mixing Se	rvice Charge	205.0	O BAG	1.05	215.2
Plug Container Util. C		1.0	O EA	187.49	187.4
"Service Supervisor,		1.0	O EA	131.24	131.2
50 TH				3GL	1 3 1 1 3
Gamzione			1.51	9-1	10,123
DOMO-FOR		11/15		9.00	518 84
20100101		95.59	10 ±10	0.00	1,001,18

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

INVOICE TOTAL

TAX

279.97 9,526.46



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET 1718 08581 A

DATE TICKET NO. OLD PROD INJ WDW CUSTOMER ORDER NO.: 5-22-13 PIATT DISTRICT CUSTOMER VALITALIA EXPLOIATION LLC LEASE HUEISCHET WELL NO. KICE **ADDRESS** COUNTY SERVICE CREW SULLYAN MATTAL CITY STATE CAW **AUTHORIZED BY** JOB TYPE: DATE **EQUIPMENT#** HRS **EQUIPMENT#** HRS **EQUIPMENT#** HRS TRUCK CALLED __ 33708 /20920 260 ARRIVED AT JOB 19831/19862 40 START OPERATION AM 37900 **FINISH OPERATION** RELEASED MILES FROM STATION TO WELL

CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered).

The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP.

SIGNED:

(WELL OWNER, OPERATOR, CONTRACTOR OR AGENT)

ITEM/PRICE REF. NO. MATERIAL, EQUIPMENT AND SERVICES USED UNIT QUANTITY UNIT PRICE \$ AMOUNT 104 50 POZ cement CVIS 125 75 60/40 POZ CMT SKS 80 960 C-41 DeFormer 108 LBS 27 108 Cellofiave LBS 00 CAICLUM CHIOI.DE L135 210 16109 CAMONT GILLIAN REDUCE 32 192 35 CC 112 9 YPSUM 665 625 468 75 CC 113 FIA-332 LOW-FIMIT LOSS CC 129 LBS 84 (6701 GILGONIFE 105 625 418 75 CEMENT 9+6 101 210 (6 202 52 U LATCH DOWN Pluy + DATFETT 4/2 (Blue) CA CF 60 400 AUTO FILL FLOAT SAUS CF 1251 eA. 360 Turbulier 5/7 (Blue) CF 1651 8 OA 880 5/2 BASKET BYLLE 1901 04 290 704 CLAYMAY KILL SUDSFITTER 941 4 140 00 1440 F1459 430 741 500

CHEMICAL / ACI	ID DATA:	SUB TOTAL		
		SERVICE & EQUIPMENT %TAX ON \$		3
		MATERIALS %TAX ON \$	1766	
		THANKYOU TOTAL		

SERVICE REPRESENTATIVE THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



TREATMENT REPORT

0110.8	, ,,	. , , ,	O D, L.1.									
Gustomer AL	HALLA	- Expl	ORAT-	Lease No.					Date			
Lease 408	LSC 4/EX	e		Well #2	7					- 22 -	13	
Field Order #	Station	OLATT	KS			Casing	Depth 32	35	County			State
Type Job	511.	1 forg					Formation	1		Legal D	escription 2-18-	10
PIPE				IG DATA		FLUID U	SED		TREA	ATMENT	RESUME	
Casing Size	Tubing Size	e Shots/F	t		Acid				RATE PRI	ESS	ISIP	
epth 3235	Depth	From	To	0	Pre	Pad		Max			5 Min.	
olume 1/2	Volume	From	To	0	Pad	MIT THE	110	Min	8		10 Min.	
lax Press	Max Press	From	Т	o	Frac			Avg			15 Min.	
ell Connection	Annulus Vo	ol. From	To	0				HHP Use	ed		Annulus I	Pressure
lug Depth /	Packer De	pth From	To	0	Flus	h		Gas Volu	ime		Total Loa	d
Sustomer Repre	esentative			Station	n Mana	ger DAU	E Scott		Treater	2 Cost	Sellie	2
Service Units	37900	33708	20970	1983	/ /	9820						
Driver Names	Muselly	magha		Α.	+1150 C)						
1	Casing Pressure	Tubing Pressure		umped		Rate			Sen	vice Log		
9:40							ON for	Sel.	men	In .		
17							Rus	28 -	r+s 15.	5-11	7 651	P1
							cent 1	100	7. 17. 73		ASA PU	18
2/00							CASTIN		BoHom	,)		
12:10							Hook	Ri a	ł			
1.25	100		1	2		3	St 100	n 7/4	ch -			
			5			7.	SPACE) Till sale	The state of the s	and the same of th		
			/	1		4-5	mix Sec	QUENGER	cont co	140 207		
			3	23				/	125 sk			epe.
							cm7 n	nivol	Shot a			
		8					Release	Place			. //	/ -
						6			1296 KC	L 42	0	
5	200		5	7		dune	Lift B					
	500		89	567		3	You Ra	1+				18
2:00 1	550	4		761/2			Play de	(w)				
)				7	4		Plac R.	H 41	30 de			217
							/		JOB 4	modelo	0	
									JOB 4	BANK	de	
											/	
				1								